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(Matrices ) Gl ghiaall = dcdbud) Bas gl) daal ya A il al) Juadl
Done by : T. Mohammed Rashed Alzzen :2022-2023

Q(1) :Determine the row operation performed to obtain each matrix.
 ddsiiae S Lo Jgemall L oLl &3 il Cocall Bl 208

5 —6, 3 15 —6, 3
-3,-2| — |0 1 -3,-2
1 00 —-1!-1

b)RZ + R3 C) Rz — R3 d) —R1 + Rz

Q(2):Write the augmented matrix for the given system of equations.
X+2y-z=3

2X -y +22=06
X-3y+3z=4

1 -2
] c)[z
4 -3

3x+2y=4
4 -3 :11 4 —3 :11 —4 3 :11
a)[4 3 . 3] b)lg 2 4] C)Lg 2 4]
Q(3) : Find the system of equations from the augmented matrix .
1 -3 —-5:-2
[ 2 -5 -4 :5]
-3 5 4 : 6

a) x+3y+5z= by x—3y—5z=-2

2x —5y —4z = 2x — 5y —4z =5

3x +5y + 4z - B3x+5y+4z =6 Mohammed Rashed Alzzen




Q(4): Solve the system of each equations.
3x+4y=10
A) X+3y=5

a) (1,2) b) (2,1) b) No solution ¢) infinite solutions

3x+4y =12
B) 6x+ 8y =24

a) (2,1) b) (1,2) c) No solution  d) infinite solutions
8x—8y—8z =24
C) 2x +4y — 4z = —12
x—3y +4z =4
a) (20,12,5) b)(10,6,5) «¢) (5,10,4) d)(2,5,10)

Q(5) : Which matrices in not row-echelon form ? Mohammed Rashed Alzzen

Q(6) : Evaluate the determinant of matrix A and B :

—4
— 2

a) -2 b) 2

4 -1
B=|2 5 —2]
-3 7

[




Q(7): Given that A =|

38 6 38 6 38 —6
b)[47 11 | _47 11] D] y7 11]

Q(8) : Find the inverse of matrix A: A= [_35 B % ]

2 1
5 3

 at=[3 "1 o ar=[]% 3]

Mohammed Rashed Alzzen

a) A‘1=[

Q(9): Which one of the following matrices is singular ?

A
!r

Q(10). A company sells a box that contains a mixture of pencils and pens. A pencil
costs the company AED 0.25 and a pen costs AED 0.50. There are a total of 50
pencils and pens in the company of the pencils and pens in a box is AED 20. How
many pencils and how many pens are in a box ?

ol B aa 500,25 A ,al QalSy (alia i Al S I3 aall 2381 Galia ) 2D e Jagda gy dde aas 48,5
a2 (e (3 saiall (alis ¢ (§saiall (8 Galia )l sl e Ll 50 Jlea) ax s ad 50 0,50 Al alSy
£ sauall & paall A3 dae A5 alia )l 22 2ae oS W) Laa jn (BSH 20 Adall i sl g alia )

a) There are 20 pencils and 20 pens . b) There are 20 pencils and 30 pens
c) There are 30 pencils and 20 pens d) There are 10 pencils and 40 pens




Q(11) :A triangle ABC with vertices A(-1,-2), B(0,-4), C(2,-3) , Find the image after
reflected over the x — axis .

a) (-2,-1),(—4,0),(-3,2) b) (—-1,2),(0,4),(2,3) c)(1,-2),(0,—4),(—2,-3)
Q(12) :A triangle ABC with vertices A(1,2), B(-1,4), C(2,3) , Find the image after
reflected over the y — axis .

a)(-1,-2),(1,-4),(-2,-3) b)(1,-2),(-1,-4),(2,-3) o¢)(—1,2),(1,4),(—2,3)

Q(13) :A triangle ABC with vertices A(-1,-2), B(0,-4) , C(2,-3) translated 2 units

right and 3 units down write the matrix represent the image after translation.

4) [ -5 —7 —4] A) [:g _—27 —uﬁ

o[

Q(14) : Find the coordinates of the dilated kite ABCD with a scalar factor
equal to 1.5 such that A(1,2), B(2,3) , C(3,2) and D(2,0).

9520 937455 o

[2343 25 3 43
3431

d)3.5530

Q(15) : Find the location of the points A(-1,2) , B(0,3) and C(1, 2) at 90°
counterclockwise rotation about the origin .

101 0 1]

b)[_—12 -3 =2

D[ 5,

Mohammed Rashed Alzzen




Q(16) : Find the location of the points A(1 ,-2) , B(1,1) and C(-1, 2) at
180° counterclockwise rotation about the origin .

o[, 71 2Py

21 2 11]

ol 1 3 d)[zl 1 2

Q(16) : Find the location of the points A(1 ,-2) , B(1,1) and C(-1, 2) at
270° counterclockwise rotation about the origin .

1 -1 1 -1 -1 1
-1 -2 b)[2—1—2

B D)y 1 .

Q(17): Which graph represent reflection over y — axis?

Mohammed Rashed Alzzen




